\ € YERCIC10S
clce0 VAPIR

@ ?J@ \y\m dades T@\ Lo U U

Seead  Tlc) plem)  h(bk)
{ 2%, Zo 2735 g0
2 41,5 0008 1929,3
= 415 0,008 1729
4 42

€0 13,4

/ 3\\ ; //
4 ‘

0,008V ,,A,A‘.;_ HE
3 “

o
e

A

T




s .‘ -1 - | X -/

It = t\\;il?f o ey (A -ha)
b by = 095e-ges(0sd)

 #hy=19303RT.h
& 12:113 4 R34

& 4 = \/\5+M /(\M cevw”] Q—jf—/«“i)-

(el
@b} \ \&%( PA- (’5)] .
©06_qyf!
QU")(M) &, 06 h;:\%.»(wg/ ). 472 ‘J‘%
s g = €2, 5@ kYT ‘(’5
&) Wddo = LU{ Ws - /W[ M- M -(he- 5)]

‘”ﬁ\ M\vtng\lﬁ hs) =034 (3] ‘F/)




b) Wy = Wodo s
(b\,‘-hl)‘u&v%) :4,443.,/0 %//L

) @mﬂé VA (0\1—&4):3187_#1@)

J) @ow& BRUSE 21,21

Q\ Wa “,,,@ﬁwcl—f« 9?} é
B (g o) A0 ks

e Wooe = | 46@%1@“%
Noe - 6291 M/%




' - » %
] 10
; AN N

M= 66586 b3k

hi= 33484 b3 bg‘

S

PQ_"O:} V\?CL 4 .AZ:A|
o -2 = PE - 66586-("1‘122 - 04%95
- P - AL Q,,‘-}og ~14922

g =he + xglhs- ke) =643 22 + 04895~ 2066,3
kl - 23418 BI.hy

D = O:} A ¢ T3 446 ¢
\,\3 - 3553 LYY 'r%‘

L‘/b3 -? ?5?1 LY. lﬂS'k

| @qu;0,00G\"Wa, & P4z p3

/34*-/%& 8 228?-@5724

Xq =

L,_\M = he M(\w—l«t} - 24285 k1. ,%.




B 1513268 wTh (o faliad
@ i’\é, - L’lg + 1S C?{‘”Pﬁ_}
he=1694 R T
b 0 Wag = Wi + Waq ~Wes
Q\i“‘f\l) “'(‘/\3 {M) ‘f\é ‘\5) 0405
T lachg k) o0

—¥ b) [\I& = w&q‘ =gh ff%]g

T (neha) 4 (ha-be) ~Che-lg) w W
LN
c) Q@ - fu (ha-Wg) = 148 MW |




e =643 2k
hy = Wet Ma(?:;-?c-) 2:’05/3*‘:“{'
. we-hs

»* ’(\N-,’S de N2} %(7@'.&‘4' 3= ahs
T .

i




b) _%_;(m— o) +(\—‘3)U"’-‘\"3) )
C_aga4 S|y '

le‘ _ (o) (1-y) (sl
.23 k3l o it

g_ b = 26931 b3lk

WA |
We [, -—w"/‘*- - 0,364

T,
_ 364 6l

| C,) (;)Q we—WB =D W\“




¥

\/3 7J@f ezl de @u:/;.[/«w/;@ﬂéa/ &
hg = 3929 £3/he
M 2393 u/;j hal= 43,3 kslf
ho=2469 LSl W =4354 kI[k
hu =202 LS’/% by =105 LIk
) Extacse, de Ua/tm

o, = ‘A\;i‘%i . = QLodd hﬁ/[gw
FLea) (g W .
o5 =Lt o&\/\\bﬂm ) ~ 0122 ug)[“w”m

b) Trabatlio eyeefis. da (mém
W= (u-lm\ +(1-of ,(l«a («b\t(‘ “'41)(.[%’Llé

Wt = U«A,—lw\) ~ o (la- L\K\"O(Z (o —\fw)
Wt = 1333 |
C) MNres = Wr g9 (:D“/M%t}

M L hate o450 B g0










